

ON THE NUMBER OF SOLUTIONS OF THE DIOPHANTINE EQUATION $x^2 + 2^a \cdot p^b = y^4$

HUILIN ZHU, MAOHUA LE and GÖKHAN SOYDAN

Communicated by Vasile Brînzănescu

Let p be a fixed odd prime. In this paper, we study the integer solutions (x, y, a, b) of the equation $x^2 + 2^a \cdot p^b = y^4$, $\gcd(x, y) = 1$, $x > 0, y > 0, a \geq 0, b \geq 0$, and we derive upper bounds for the number of such solutions.

AMS 2010 Subject Classification: 11D61.

Key words: exponential Diophantine equation, Lebesgue-Nagell equation, classification of solutions.

1. INTRODUCTION

Let \mathbb{Z}, \mathbb{N} be the sets of all integers and positive integers respectively. Let p be a fixed odd prime. There are many recent papers related to the equation

$$(1.1) \quad x^2 + 2^a p^b = y^n, \quad x, y, n, a, b \in \mathbb{Z}, \gcd(x, y) = 1, x > 0, y > 0, n > 2, a \geq 0, b \geq 0,$$

which has been solved for some small values of p (see [2, 4, 8–10, 13]).

Since $n > 2$, for a general p , (1.1) can be classified into the following two equations:

$$(1.2) \quad x^2 + 2^a p^b = y^4, \quad x, y, a, b \in \mathbb{Z}, \gcd(x, y) = 1, x > 0, y > 0, a \geq 0, b \geq 0$$

and

$$(1.3) \quad x^2 + 2^a p^b = y^q, \quad x, y, a, b \in \mathbb{Z}, \gcd(x, y) = 1, x > 0, y > 0, a \geq 0, b \geq 0,$$

where q is an odd prime.

Obviously, (1.2) has only the solution $(x, y, a, b) = (7, 3, 5, 0)$ with $b = 0$ (see [3]). Thus it can be seen that we only need to solve the equations

$$(1.4) \quad x^2 + p^b = y^4, \quad x, y, b \in \mathbb{N}, \quad \gcd(x, y) = 1$$

and

$$(1.5) \quad x^2 + 2^a p^b = y^4, \quad x, y, a, b \in \mathbb{N}, \quad \gcd(x, y) = 1.$$

In [15], H. Zhu, G. Soydan and W. Qin gave all solutions of the equations (1.4) and (1.5) under the assumption that the famous equation

$$(1.6) \quad x^2 - 2 = y^n, \quad x > 1, y \geq 1, n \geq 3, \gcd(x, y) = 1$$

has no solutions. Recently, in [14], H. Zhu, M. Le, G. Soydan and A. Togbé restudied the equations (1.4) and (1.5) and firstly, they gave all solutions of the equation (1.4) without using the assumption that equation (1.6) has no solutions, in the following theorem:

THEOREM A ([14]). *All solutions of (1.4) are given as follows:*

- (i) $p = 23, (x, y, b) = (6083, 78, 3)$.
- (ii) $p = u_{2k+1}, (x, y, b) = (v_{2k+1}^2 - 1, v_{2k+1}, 2)$, where k is a positive integer,
 $u_{2k+1} = \frac{1}{2} \left((1 + \sqrt{2})^{2k+1} + (1 - \sqrt{2})^{2k+1} \right), \quad v_{2k+1} = \frac{1}{2\sqrt{2}} \left((1 + \sqrt{2})^{2k+1} - (1 - \sqrt{2})^{2k+1} \right)$.
- (iii) $p = 2l^2 - 1, (x, y, b) = (l^2 - 1, l, 1)$, where l is a positive integer with $l > 1$.

Secondly, they gave all solutions of the equation (1.5) for a general prime p with $p \not\equiv 7 \pmod{8}$ without using the assumption that equation (1.6) has no solutions, in the following theorem:

THEOREM B ([14]). *If $p \not\equiv 7 \pmod{8}$, then equation (1.5) has only the following solutions:*

- (i) $p = 3, (x, y, a, b) = (7, 5, 6, 2)$.
- (ii) $p = 3, (x, y, a, b) = (47, 7, 6, 1)$.
- (iii) $p = 3, (x, y, a, b) = (287, 17, 7, 2)$.
- (iv) $p = 17, (x, y, a, b) = (4785, 71, 9, 3)$.
- (v) $p = 2^{2^{r-1}} + 1, (x, y, a, b) = (2^{2^r+2} + 2^{2^{r-1}+2} - 1, 2^{2^{r-1}+1} + 1, 2^{r-1} + 4, 1)$, where $r \in \mathbb{N}$, and if $2^{2^{r-1}} + 1$ is a prime.
- (vi) $p = 2^r + 1, (x, y, a, b) = (|2^{2r-2} - 2^r - 1|, 2^{r-1} + 1, 2r, 1)$, where $r \in \mathbb{N}$, and if $2^r + 1$ is a prime.
- (vii) $p = f^2 - 2^{2r-1}, (x, y, a, b) = (|f^2 - 2^{2r}|, f, 2r + 1, 1)$, where $r \in \mathbb{N}$, $2 \nmid f$, and if $f^2 - 2^{2r-1}$ is a prime.

In this paper, we give partial classification of integer solutions (x, y, a, b) of the equations (1.4) and (1.5), and we obtain some upper bounds for the number of such solutions.

THEOREM 1. *(1.4) has at most one solution (x, y, b) except $(x, y, b) = (3, 2, 1)$ and $(24, 5, 2)$ for $p = 7$.*

THEOREM 2. *If $p \equiv 3 \pmod{8}$, then (1.5) has no solution except for $(x, y, a, b) = (23, 5, 5, 1), (47, 7, 6, 1), (7, 5, 6, 2)$ and $(287, 17, 7, 2)$ when $p = 3$.*

THEOREM 3. *If $p \equiv 5 \pmod{8}$, then (1.5) has no solution except for $(x, y, a, b) = (1, 3, 4, 1)$ and $(79, 9, 6, 1)$ when $p = 5$.*

THEOREM 4. *If $p \equiv 1 \pmod{4}$, then (1.5) has at most one solution (x, y, a, b) except for the following cases:*

(i) $(x, y, a, b) = (9, 5, 5, 1), (15, 7, 7, 1), (47, 9, 8, 1), (1087, 33, 8, 1), (4785, 71, 9, 3)$ and $(495, 23, 11, 1)$ when $p = 17$.

(ii) $(x, y, a, b) = (2^{2^{r-1}} - 2^{2^{r-2}+1} + 1, 2^{2^{r-2}} + 1, 2^{r-2} + 3, 1), (2^{2^r-2} - 2^{2^{r-1}} - 1, 2^{2^{r-1}-1} + 1, 2^r, 1)$ and $(2^{2^r+2} + 2^{2^{r-1}+2} - 1, 2^{2^{r-1}+1} + 1, 2^{r-1} + 4, 1)$, where r is a positive integer with $r > 3$ and $p = 2^{2^{r-1}} + 1$.

(iii) $(x, y, a, b) = (|(2l_1 + 1)^2 - 2^{2s_1}|, 2l_1 + 1, 2s_1 + 1, 1)$ and $(|(2l_2 + 1)^2 - 2^{2s_2}|, 2l_2 + 1, 2s_2 + 1, 1)$, where r, l_1, l_2, s_1, s_2 are positive integers with $s_2 > s_1 > 1$ and $p \neq 2^{2^{r-1}} + 1, p = (2l_1 + 1)^2 - 2^{2s_1-1} = (2l_2 + 1)^2 - 2^{2s_2-1}$.

We organize this paper as follows. In Section 2, we recall some useful lemmas and prove Theorem 1, by using Theorem A. In Section 3, we prove Theorems 2–3 by using Theorem B. In Section 4, by means of some lemmas at the beginning of this section and Theorem B, we prove Theorem 4.

2. PROOF OF THEOREM 1

For any nonnegative integer t , let

$$(2.1) \quad u_t = \frac{1}{2}(\alpha^t + \beta^t), \quad v_t = \frac{1}{2\sqrt{2}}(\alpha^t - \beta^t),$$

where

$$(2.2) \quad \alpha = 1 + \sqrt{2}, \quad \beta = 1 - \sqrt{2}.$$

By the properties of Pell equations and related sequences (see, Chapter 8 of [12]), we have the following lemma:

LEMMA 1. (i) *Every solution (u, v) of the equation*

$$(2.3) \quad u^2 - 2v^2 = 1, \quad u, v \in \mathbb{N}$$

can be expressed as $(u, v) = (u_{2k}, v_{2k})$, where k is a positive integer.

(ii) *Every solution (U, V) of the equation*

$$(2.4) \quad U^2 - 2V^2 = -1, \quad U, V \in \mathbb{N}$$

can be expressed as $(U, V) = (u_{2k+1}, v_{2k+1})$, where k is a nonnegative integer.

(iii) *For any nonnegative integer k , $\gcd(u_k, u_{k+1}) = \gcd(v_k, v_{k+1}) = 1$.*

LEMMA 2 ([6]). *The equation*

$$(2.5) \quad X^4 - 2Y^2 = 1, \quad X, Y \in \mathbb{N}$$

has no solution (X, Y) .

LEMMA 3 ([7]). *The equation*

$$(2.6) \quad X^2 - 2Y^4 = -1, \quad X, Y \in \mathbb{N}$$

only has the solutions $(X, Y) = (1, 1)$ and $(239, 13)$.

LEMMA 4. *The equation*

$$(2.7) \quad u_{2k+1} = 2l^2 - 1, \quad k, l \in \mathbb{N}$$

has only the solution $(k, l) = (1, 2)$.

Proof. Let (k, l) be a solution of (2.7). If $2|k$, then $k = 2s$, where s is a positive integer. By (2.1) and (2.2), we have

$$(2.8) \quad u_{2k+1} + 1 = u_{4s+1} + 1 = \frac{\alpha^{4s+1} + \beta^{4s+1}}{\alpha + \beta} + (\alpha\beta)^{2s} \\ = \frac{(\alpha^{2s} + \beta^{2s})(\alpha^{2s+1} + \beta^{2s+1})}{\alpha + \beta} = 2u_{2s}u_{2s+1}.$$

By substituting (2.8) into (2.7), we get

$$(2.9) \quad u_{2s}u_{2s+1} = l^2.$$

By (iii) of Lemma 1, we have $\gcd(u_{2s}, u_{2s+1}) = 1$. Hence, we get from (2.9) that

$$(2.10) \quad u_{2s} = f^2, \quad u_{2s+1} = g^2, \quad l = fg, \quad f, g \in \mathbb{N}.$$

Further, by (i) of Lemma 1, we see from the first equality of (2.10) that (2.5) has the solution $(X, Y) = (f, v_{2s})$. But, by Lemma 2, it is impossible.

If $2 \nmid k$, then $k = 2s + 1$, where s is a nonnegative integer. By (2.1) and (2.2), we have

$$(2.11) \quad u_{2k+1} + 1 = u_{4s+3} + 1 = \frac{\alpha^{4s+3} + \beta^{4s+3}}{\alpha + \beta} - (\alpha\beta)^{2s+1} \\ = \frac{(\alpha^{2s+1} - \beta^{2s+1})(\alpha^{2s+2} - \beta^{2s+2})}{\alpha + \beta} = 4v_{2s+1}v_{2s+2}.$$

By substituting (2.11) into (2.7), we get

$$(2.12) \quad 2v_{2s+1}v_{2s+2} = l^2.$$

Further, since $\gcd(v_{2s+1}, v_{2s+2}) = 1$ and $2 \nmid v_{2s+1}$ by (2.4), we obtain from (2.12) that

$$(2.13) \quad v_{2s+1} = f^2, \quad v_{2s+2} = 2g^2, \quad l = 2fg, \quad f, g \in \mathbb{N}.$$

Furthermore, by (ii) of Lemma 1, we see from the first equality of (2.13) that (2.6) has the solution $(X, Y) = (u_{2s+1}, f)$. Therefore, by Lemma 3, we

get either $(s, f) = (0, 1)$ or $(3, 13)$. Since $v_2 = 2$ and $v_8 = 408$, by the second and the third equality of (2.13), we determine that (2.7) has only the solution $(k, l) = (1, 2)$ which completes the proof. \square

2.1. PROOF OF THEOREM 1

We now assume that p is an odd prime such that (1.4) has two solutions. Since $23 \neq u_{2k+1}$ and $23 \neq 2l^2 - 1$, by Theorem A, we have

$$(2.14) \quad p = u_{2k+1} = 2l^2 - 1, \quad k, l \in \mathbb{N}.$$

Applying Lemma 4 to (2.14), we get $k = 1, l = 2$ and $p = 7$. It implies that (1.4) has at most one solution except for $p = 7, (x, y, b) = (3, 2, 1)$ and $(24, 5, 2)$. This completes the proof of the Theorem.

3. PROOF OF THEOREMS 2 AND 3

3.1. PROOF OF THEOREM 2

We consider the case that $p \equiv 3 \pmod{8}$.

When $p = 3$, since $3 = 2^1 + 1$ and $3 = 2^{2^0} + 1$, by the solutions of types (i), (ii), (iii), (v) and (vi) given in Theorem B, (1.5) has exactly four solutions $(23, 5, 5, 1), (47, 7, 6, 1), (7, 5, 6, 2)$ and $(287, 17, 7, 2)$, respectively.

When $p > 3$, by Theorem B, (1.5) has no solution which completes the proof.

3.2. PROOF OF THEOREM 3

When $p = 5$, since $5 = 2^2 + 1$, by the solution of type (v) and (vi) given in Theorem B, then (1.5) has exactly two solutions $(x, y, a, b) = (79, 9, 6, 1)$ and $(4, 3, 4, 1)$ respectively.

When $p > 5$, by Theorem B, (1.5) has no solution. This completes the proof of the Theorem.

4. PROOF OF THEOREM 4

Let D be a positive odd integer.

LEMMA 5 ([12], Chapter 8). *If D is an odd prime with $D \equiv 1 \pmod{4}$, then the equation*

$$(4.1) \quad U^2 - DV^2 = 1, \quad U, V \in \mathbb{N}$$

has solutions (U, V) .

LEMMA 6. *If D is an odd prime and the equation*

$$(4.2) \quad X^2 - D = 2^n, \quad X, n \in \mathbb{N}, \quad n > 2$$

has solutions (X, n) with $2|n$, then $D = 2^{2^{r-1}} + 1$, where r is a positive integer with $r > 2$.

Proof. Let (X, n) be a solution of (4.2) with $2|n$. Since D is an odd prime, by (4.2), we have

$$(4.3) \quad X + 2^{\frac{n}{2}} = D, \quad X - 2^{\frac{n}{2}} = 1,$$

whence we get

$$(4.4) \quad D = 2^{\frac{n}{2}+1} + 1.$$

Therefore, we see from (4.4) that $D = 2^{2^{r-1}} + 1$, where r is a positive integer with $r > 2$ which completes the proof. \square

LEMMA 7 ([5], Theorem 1 and 2). (i) *If $D = 2^{2r} - 3 \cdot 2^{r+1} + 1$, where r is a positive integer with $r > 2$, then (4.2) has exactly four solutions $(X, n) = (2^r - 3, 3), (2^r - 1, r + 2), (2^r + 1, r + 3)$ and $(3 \cdot 2^r - 1, 2r + 3)$.*

(ii) *If $D = \left(\frac{1}{3}(2^{2r+1} - 17)\right)^2 - 32$, where r is a positive integer with $r > 2$, then (4.2) has exactly three solutions $(X, n) = \left(\frac{1}{3}(2^{2r+1} - 17), 5\right), \left(\frac{1}{3}(2^{2r+1} + 1), 2r + 3\right)$ and $\left(\frac{1}{3}(17 \cdot 2^{2r+1} - 1), 4r + 7\right)$.*

(iii) *If $D = 2^{2r_1} + 2^{2r_2} - 2^{r_1+r_2+1} - 2^{r_1+1} - 2^{r_2+1} + 1$, where r_1, r_2 are positive integers with $r_2 > r_1 > 2$, then (4.2) has exactly three solutions $(X, n) = (2^{r_2} - 2^{r_1} - 1, r_1 + 2), (2^{r_2} - 2^{r_1} + 1, r_2 + 2)$ and $(2^{r_2} + 2^{r_1} - 1, r_1 + r_2 + 2)$.*

(iv) *If D is not of one of the above types and (5.1) has solutions (U, V) , then (4.2) has at most two solutions (X, n) .*

LEMMA 8. *The equation*

$$(4.5) \quad 2^{2r} - 3 \cdot 2^{r+1} + 1 = 2^{2^{s-1}} + 1, \quad r, s \in \mathbb{N}, \quad r > 2, \quad s > 2$$

has only the solution $(r, s) = (3, 3)$.

Proof. Let (r, s) be a solution of (4.5). Then we have $2^{r-1} - 3 = 2^{2^{s-r-1}}$, whence we get $r = 3$ and $s = 3$. This completes the proof of the Lemma. \square

LEMMA 9. *If $D = \left(\frac{1}{3}(2^{2r+1} - 17)\right)^2 - 32$, where r is a positive integer with $r > 2$, then D is not a prime.*

Proof. Under the assumption, we have

$$D = \frac{1}{9} \left(2^{4r+2} - 17 \cdot 2^{2r+2} + 1 \right) = \frac{1}{9} \left((2^{2r+1} - 1)^2 - 2^{2r+6} \right)$$

$$(4.6) \quad = \frac{1}{9} \left(2^{2r+1} + 2^{r+3} - 1 \right) \left(2^{2r+1} - 2^{r+3} - 1 \right).$$

Since $r \geq 3$, we have $2^{2r+1} + 2^{r+3} - 1 > 2^{2r+1} - 2^{r+3} - 1 \geq 63$. Therefore, by (4.6), D is not a prime which completes the proof. \square

LEMMA 10. *The equation*

$$(4.7) \quad 2^{2r_1} + 2^{2r_2} - 2^{r_1+r_2+1} - 2^{r_1+1} - 2^{r_2+1} + 1 = 2^{2^{s-1}} + 1, \quad r_1, r_2, s \in \mathbb{N}, \\ r_2 > r_1 + 1 > 2, \quad s > 3$$

has no solution (r_1, r_2, s) .

Proof. Let (r_1, r_2, s) be a solution of (4.7). Then we have

$$(4.8) \quad 2^{r_1-1} + 2^{2r_2-r_1-1} - 2^{r_2} - 2^{r_2-r_1} - 1 = 2^{2^{s-1}-r_1-1}.$$

But since $2r_2 - r_1 - 1 > r_2 > \max\{r_1 - 1, r_2 - r_1\} \geq \min\{r_1 - 1, r_2 - r_1\} \geq 1$, (4.8) is impossible. This completes the proof of the Lemma. \square

LEMMA 11. *If D is an odd prime, then (4.2) has at most two solutions except for*

(i) $D = 17$, $(X, n) = (5, 3), (7, 5), (9, 6)$ and $(23, 9)$. Further, if (4.2) has exactly two solutions (X_1, n_1) and (X_2, n_2) with $n_1 < n_2$, then we have

(ii) $D = 2^{2^{r-1}} + 1$, $(X_1, n_1) = (2^{2^{r-2}} + 1, 2^{r-2} + 1)$ and $(X_2, n_2) = (2^{2^{r-1}-1} + 1, 2^r - 2)$, where r is a positive integer with $r > 2$.

(iii) $D \neq 2^{2^{r-1}} + 1$, $(X_1, n_1) = (2l_1 + 1, 2r_1 + 1)$ and $(X_2, n_2) = (2l_2 + 1, 2r_2 + 1)$, where l_1, l_2, r_1, r_2 are positive integers with $r_1 < r_2$.

Proof. We now assume that D is an odd prime such that (4.2) has at least three solutions. By Lemma 7, D must be of the types (i), (ii) and (iii).

When D is of type (i), since one of $r + 2$ and $r + 3$ is even, (4.2) has a solution (X, n) with $2|n$. Hence, by Lemma 6, we have $D = 2^{2^{r-1}} + 1$, where r is a positive integer with $r > 2$. Further, by Lemma 8, we get $D = 17$ and the solutions (i).

When D is of type (ii), by Lemma 9, it is impossible.

When D is of type (iii), since one of $r_1 + 2, r_2 + 2$ and $r_1 + r_2 + 2$ is even, by Lemma 6, we have $D = 2^{2^{r-1}} + 1$. But, by Lemma 10, it is impossible. Therefore, by Lemma 5 and (iv) of Lemma 7, (4.2) has at most two solutions except for $D = 17$.

Finally, we assume that D is an odd prime which makes (4.2) has exactly two solutions. Then we have $D \neq 17$.

When $D = 2^{2^{r-1}} + 1$, since $D \neq 17$, we have $r > 3$ and the solutions of type (ii).

When $D \neq 2^{2^{r-1}} + 1$, by Lemma 5, (4.2) has no solution (X, n) with $2|n$. Therefore, we obtain the solutions of type (iii). This completes the proof of the Lemma. \square

4.1. PROOF OF THEOREM 4.

We first consider the case that $p = 2^{2^{r-1}} + 1$, where r is a positive integer with $r > 2$.

When $r = 3$, we have $p = 17$. By the case (i) of Lemma 11 and the solutions of types (iv),(v),(vi) and (vii) given in Theorem B, (1.5) has exactly six solutions $(x, y, a, b) = (9, 5, 5, 1), (15, 7, 7, 1), (47, 9, 8, 1), (1087, 33, 8, 1), (4785, 71, 9, 3)$ and $(495, 23, 11, 1)$, respectively.

When $r > 3$, by the case (ii) of Lemma 11 and the solutions of types (v),(vi) and (vii) given in Theorem B, we obtain the solutions of type (ii).

We next consider the case that $p \neq 2^{2^{r-1}} + 1$. Since $p \equiv 1 \pmod{8}$, by Theorem B, (1.5) has only solutions belong to the type (vii) with $r > 1$. Therefore, by Lemma 11, (1.5) has at most one solution (x, y, a, b) except for the case (iii) which completes the proof.

Acknowledgments. We would like to thank the referee for suggestions that greatly improved the presentation of this paper. The first author was partly supported by the Fundamental Research Funds for the Central Universities and the Science Fund of Fujian Province (No. 2013J05019, 2015J01024). The second author was partly supported by the National Science Foundation of China (No. 10971184). This paper was completed during the visit of the third author to The Institute of Mathematics, University of Debrecen which was supported by the Scientific and Technical Research Council of Turkey (TUBITAK) under 2219-International Postdoctoral Research Scholarship Program together with The Research Fund of Uludağ University under Project No: F-2013/87. He thanks to the people in this institute and Professor Ákos Pintér for his hospitality and also thanks to Professor Mike Bennett for his usefull remarks.

REFERENCES

- [1] M.A. Bennett and C.M. Skinner, *Ternary diophantine equation via Galois representations and modular form*. Canad J. Math. **56** (2004), 23–54.
- [2] I.N. Cangül, M. Demirci, F. Luca, Á. Pintér and G. Soydan, *On the diophantine equation $x^2 + 2^a \cdot 11^b = y^n$* . Fibonacci Quart. **48** (2010), 39–46.
- [3] J.H.E. Cohn, *The Diophantine equation $x^2 + 2^k = y^n$* . Arch. Math.(Basel) **59** (1992), 341–344.
- [4] A. Dabrowski, *On the Lebesgue-Nagell equation*. Colloq. Math. **125** (2011), 245–253.
- [5] M.-H. Le, *On the number of solutions of the generalized Ramanujan-Nagell equation $x^2 - D = 2^{n+2}$* . Acta Arith. **60** (1991), 149–167.
- [6] W. Ljunggren, *Über die Gleichung $x^4 - Dy^2 = 1$* . Arch. Math. Naturv. **45** (1942), 61–70.

- [7] W. Ljunggren, *Zur Theorie der Gleichung $x^2 + 1 = Dy^4$* . Avh. Norske Vid. Akad. Oslo. **1** (1942), 1–27.
- [8] F. Luca, *On the equation $x^2 + 2^a \cdot 3^b = y^n$* . Int. J. Math. Math. Sci. **29** (2002), 239–244.
- [9] F. Luca and A. Togbé, *On the equation $x^2 + 2^a \cdot 5^b = y^n$* . Int. J. Number Theory **4** (2008), 973–979.
- [10] F. Luca and A. Togbé, *On the equation $x^2 + 2^a \cdot 13^b = y^n$* . Colloq. Math. **116** (2009), 139–146.
- [11] P. Mihăilescu, *Primary cyclotomic units and a proof of Catalan’s conjecture*. J. Reine Angew. Math. **572** (2004), 167–195.
- [12] L.J. Mordell, *Diophantine equations*. London, Academic Press, 1969.
- [13] G. Soydan, M. Ulas and H.-L. Zhu, *On the diophantine equation $x^2 + 2^a \cdot 19^b = y^n$* . Indian J. Pure Appl. Math. **43** (2012), 251–261.
- [14] H.-L. Zhu, M.-H. Le, G. Soydan and A. Togbé, *On the exponential Diophantine equation $x^2 + 2^a \cdot p^b = y^n$* . Period. Math. Hung. **70** (2015), 233–247.
- [15] H.-L. Zhu, G. Soydan and W. Qin, *A note on two Diophantine equations $x^2 \pm 2^a \cdot p^b = y^4$* . Miskolc Math. Notes **14** (2013), 1105–1111.

Received 17 June 2013

*Xiamen University,
School of Mathematical Sciences,
361005, Xiamen
P.R. China
hlzhu@xmu.edu.cn*

*Zhanjiang Normal College,
Department of Mathematics,
524048, Zhanjiang,
P.R. China
lemaohua2008@163.com*

*Uludağ University,
Department of Mathematics,
1609, Bursa,
Turkey
gsoydan@uludag.edu.tr*